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Multilayers — Example 1

normal
incidence

an e [n=18n=2 | n=15
n=1

Tum 1pm 1pum

m1]= beta[lambda , n ] = 2Pin /lavbda

2nx

O ambaa

Inf2= M{lambda , n_]
{{Cos[betallambda, nl], -Igin[beta[lambda, n]]/n},

{-Ingin{betallambda, n]], Cos[beta[lambda, n]l}}

i §in[-2nE. -
cug2l {{COS[ Zon }, ~lsm[la”‘bd“] 1, {~:’1n8‘n[ Znr }, cos._%ﬁ_’im”‘;
lambda n 3 lambda Llambda i)
"In3l= MatrixForm[%]
OuE)vatiEorm=
25 i sm{——~2 B 5 §
COS[ 2nw ] - lambda }
larbda n
-insin[-222 ] cos[-224 ]
: lembda lambda ¢
§ Injdk= Aliambda ] =

172 {{1, i},

04

%
i
i

T

M[lambda, 2] . {{1, 0}, {1.5, 0}};
r{lambda 1 = Allambdal{[2, 1]] / Allanbda}[{i, 1117

= plot[abs[r{lambda] A2], {lambda, 0.2, 0.8}]

{1, -1}} . M[lambda, 2] . M[Ilambda, 1.5] .

| |




Multilayers — Example 2

normal

incidence
e

air,
n=1

n=2 {n=1.5 n=2 n=1.5

fum 1um 1pum

7

N

x10

Ouifol=

Anew{lambda ] =
i/2 {{&, 1}, {3, -1}} .
MatrixPower|{M[lanbda, 2] . M{lambda, 1.5] , 10}.
M[lambda, 2] . {{1, 0}, {1.5, 0}};

rnew{lambda ] = Anew{[lambda]{[2, 1]] / Anew{lambda][[1, 11}/

Plot[Abs[rnew[lambda] A2], {lawbda, 0.2, 0.8}]

(I | I |

1.0},




